S1-S

Surge Current Suppressor

e NTC surge current suppressor working principle: Based on the characteristics of NTC thermisor, /
o
when surge current occurs in the circuit, the NTC is instantly heated, the resistance drops rapidly, s
, N o e oo Ce
playing the role of current limitation and hindering the conduction of inrush current. e
VT s
e Used in series with triac dimmer fo protect the safety and stable operation of friac dimmer. e
o o
o High sensitivity, small size, high reliability, low cost, easy fo install and use. , O
C€ RoHS

Technical parameters

Input and Output Environment Safety and EMC

Input voltage AC100-240V Operation femperature Ta:-30°C ~ +55°C ETSIEN 301 489-1 V2.2.3

5 EMC standard (EMC)

Input supply frequency 50/60Hz Case femperature (Max.) Te: +85°C ETSIEN 301 489-17V3.2.4

Work current Max. 2A IP rafing P20 Safety standard EN 62368-1:2020+A11:2020

Load power 200-480W Package Radio Equipment(RED) ETSIEN 300 328 v2.2.2

Warranty Size 190 x H130mm Cerfification CE,EMC

Warranty 5 years Gross weight 0.021kg

Mechanical structures and installations
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NTC surge current suppressor working principle

Surge current formula: | surge = u/ (U/| original surge + RNTC) Current

When the AC voliage is 220V, the peak voltage U is 220*1.414 = 311V,
if the original surge current is 100A.

When the working temperature is 25°C, RNTC is 2.50) .

I'suge = 311/(311/100+2.5) = 55.4A

That is, after using the surge current suppressor,

the input surge current of the friac dimmer drops 1o 55.4A. Without surge current protection

When the working temperature increases,

the surge current suppression capability will decrease. With surge current protection

Example: When the working temperature is 57°C, RNTC is 1Q). Time

I'suge =311/(311/100+1) = 75.7A

Temperature-Resistance Curve
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Note:
1. Suppression effect of NTC surge current suppressor is related fo ambient temperature.
Temperature changes may affect its current limiting effect, and the temperature can be stabilised by other auxiliary measures.
2. For larger inrush currents, a single NTC surge current suppressor may not be able fo fully limit the current.
The solution is to use mulfiple cascades to enhance the suppression effect.
3. As NTC surge current suppressor work in high temperature environments for long periods of time, problems such as aging and failure may occur.

The solution is to test and replace the NTC surge current suppressor periodically.
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